



Substituting we get:  $v_c \hat{e}_{\tau} = v_c \left(\frac{15}{17}\hat{c} + \frac{2}{17}\hat{f}\right) = (w_c \hat{k}) x (13f) + (3\hat{k}) x (8\hat{c} - 8f)$ Solving for  $v_c$  and  $w_z$ :  $v_c = 51$ ,  $w_z = -\frac{21}{13}$ . <u>Step2</u>: Sub ve and we into our initial equations above. Ken First let's get ên: ên.êr =0  $\hat{e}_{\tau} = (\frac{1}{2})\hat{c} + (\frac{2}{12})\hat{c}$  $\hat{e}_{n} = (-\hat{a})\hat{c} + (\hat{a})\hat{f}$ So doiby substitution we get  $\frac{(51)^{-1}}{17} \left( -\frac{2}{17} \left( -\frac{2}{17} \left( -\frac{2}{17} \right) + \frac{1}{17} \left( -\frac{2}{17} \right) \right) \right)$  $= (a_{2}\hat{k}) \times (13\hat{j}) - (\frac{-21}{13})^{2} (13\hat{j}) + (-2\hat{k}) \times (8\hat{c} - 8\hat{j}) + (3\hat{c} - 8\hat{j})$ Zegus Zunknowns  $\dot{s} = -240$  $\alpha_z = 15.1 \text{ rad/sec}^2$ 

$$O = \frac{dy}{d\theta} = r'(\theta) \sin \theta + r(\theta) \cos \theta$$

$$= \frac{1}{2} \frac{1}{r(\theta)} (-50\sin 2\theta) \sin \theta + r(\theta) \cos \theta$$

$$= \frac{1}{2} \frac{1}{r(\theta)} (-50\sin 2\theta) \sin \theta + r(\theta) \cos \theta$$

$$O = (-25) \sin 2\theta \sin \theta + r^{2}(\theta) \cos \theta$$

$$O = (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \sin \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \sin \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \sin \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos 2\theta \sin \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \cos \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \sin \theta$$

$$= (-25) \sin 2\theta \sin \theta + 25 \sin \theta$$

$$= (-25) \sin \theta + 25 \sin \theta$$

$$= (-25$$

$$\dot{r} = \frac{1}{2} \frac{-50 \sin 2\theta}{\sqrt{25} \cos 2\theta} \cdot \dot{\theta} = \left(-\frac{\sqrt{25} \sin 2\theta}{\sqrt{\cos 2\theta}}\right) \cdot \dot{\theta} = \left(-\frac{\sqrt{25} \sin 2\theta}{\sqrt{\cos 2\theta}}\right)$$

We know  

$$Z = \sqrt{r^{2} + r^{2} \dot{\theta}^{2}} = \left(\frac{25 \sin^{2} 2\theta}{\cos 2\theta} \cdot \dot{\theta}^{2} + 25\cos^{2} \theta \dot{\theta}^{2}\right)$$

$$= \sqrt{\frac{25}{\cos 2\theta}} \cdot \dot{\theta} = \frac{2(\cos 2\theta)}{5}$$

$$\Rightarrow \dot{\theta} = -\frac{5 \sin^{2} \theta}{(\cos 2\theta)} \cdot \dot{\theta} = -2\sin^{2} \theta$$

$$\Rightarrow \sin^{2} \theta = -3\sin^{2} \theta$$

$$\Rightarrow \sin^{2} \theta = -3\sin^{2} \theta$$